e T HBE P.204~205. 208~209

5cm
3 cn% R R
\ 6cm
6cm

(BEERBEAR)
- RO R EEROETEE (D Jewd, F2 1OOEROHEREZ (2
& (B JEwI,

(ke Mo EER) = (RERK) + OLHE) X (@ )

(g, MoK = (G )) + O IHif)

R OBOEKEFEE S ET AL, S=(® J

4 % B A
7o T2 ML K
ZEREXREDOETEN) %

/50

1 GIEOREED) kovkoFfizRkos v, 27210, MEZ 1 (B6:5Ex%6)

TET5h, 0

(1) IEPafkE ! Y (2) =Stk

; 5:cm (2)
’ 4crﬁ (3>
4cm

(3) PR W) D &

(5)
4lcm
(6)
(5) 4k (6) g ‘lﬁEE!E
2 (IHOREBO) KON Y E % b7 ko £ ik % Ko 2 (8

(B14Ex%x6)

N N E N ]




e T HBE P.204~205. 208~209

72720, MEREr &9 5,
(1) v

3V, 2720, MERET &Y%,

#2 5 =]
7o 107 M= = 2y
ZERENMFEOETE01) ” y/
50
1 FoNEHEDORMRTS 2. ThEhoMEEOERRZRDZ SV, 1 (£85x2)
(1)
(2)
2 ToOREA, Hax#e L1 ESET T k0 ERR %Rk 2 (%9 5% 2)
(1)
(1) ‘ (2) l
(2)
8cﬁ1
~--6em-—
3 (58 4% 2)

3 W10E)%MEA, BHds, 2200MA, Br, EHOMOH.L
BT HEHICEALE, M20X) kb, ROMVICEL LSV, 7
7L, MEEET LT 5.

1 4 2

>y
A - B
\ B
!I!!@m illiﬁ&;&m a%n-i%g
(1) MEAOEGEHREMHAEBOERBEOMZ KD S,

(2) 2 DVARDOFEMREIZ, (T em? /N & %) 3 h%




HZ BY 15 HEE P.206~210

A £ 18 =
A, VA =] K
ZERENREDETE(Q2) .
/50
1 GIEo#ED) kovtkokfiz ko S, 72720, ME%EEr & 1 (B6:5Ex%6)
(1) =k (2) PushE
~_ | ey (2)
< ' 6cm /1
8:cm : :
‘ 4cm—ji—: ‘_7y_c_rz1 _____ (3>
(4)
(6)
(5)
2 IHEOHER) KovAOKRir koS v, 2720, MEEEr & 2 (&64%2)
T2, N
(1) EHEDPSZMBAT Vo7 (2) PR E R Z &bk
YRS (2)
4tcm
(BERELAR) (&814%x2)

AR ZRMEOKERZ S, B3, KRV ETHE, V=S
- EEFE 7MDK E S, W%, RV ETHE, V=IO  ISK
CEEr OBRORREEV ETHE, V=@ J




HZ BY 15 HEE P.206~210

& @@ L ZEEREDETE(2) .

1 E B =

1 #oMo &> %=k ABC-DEF %% %, 1 (%8 5% 2)
WAD FIZAP=acm £ %25 59 %N PE &S
L& ROBVIZEZ S0,

(1) =Z=AP-ABCOMKREZ. a ZHW2XT

KL EW,

(2) DU P-BCFE O f&iZ. « DfHICEER
& < Y _‘%0){ﬁk &Z)o mﬁﬁEP*BCFE 0)
HKEEERD % E v,

2 ToOREA, Hfx#e L1 HESET T2 k0 Rz ko 2 (%8 5% 2)

S, 72720, HERET L35,
(1) l (2) ¢

L-3CM-.,

5cm

7cm L |9cm

3 LHOHOEI % 1BH12ecm D 57D 5 VTS 3 (#9EX2)

KOEHDH Do TORBOSITVIZKE AN &,
PR 2T TKRZ ZIEL, KEN T D), (212

%bh XL, FREFIUTcm® DD TWET

Mo






